[ Efficiency vs vertpos |
- 05

er

B B e,

Ratio
. < ¢
I—I—I—I—?—I—I—I—I IIIIIII.IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII
1

0.95 : :
1072 10 1

10 0?
TP vertr (cr%)

—=— DQM_V0001_R000000001__Global__CMSSW_NOBATCH__RECO
Efficiend —— pom_v0001_R000000001_ Global__CMSSW_BATCH__RECO

~ 0.5
20.45
n
> 04
>
2
$0.35
0.3
0.25]
0.2
0.15
0.1
0.05
e

ettici

Ratio
N
T

093P =20 =10 0 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.1
>
a 0.09
IS
7 0.08
£0.07
2y
c0.06
@
o
£0.05
5}
0.04
0.03
0.02

0.0

...........................................

...............................................

1.0

Ratio

10 15 20
Sim. PV z (cm)

I
o
a -
o
o1



	Contents
	Page 1


